¢ ERFRSHENRR
(1) EfF (EFBELH)

& B H B & R 2 4 & B & b3
TR18 &K 98 98 93 94.9%
THR19 EE 93 92 87 94.6%
TR20& K 105 103 98 95.1%
THK215E 94 93 87 93.5%
TR22& K 107 106 94 88.7%

(2) BEM (EFBREFH)

& B H B & B 2 B & B & -3
TR18 &K 82 82 80 97.6%
THR19 &EE 78 78 75 96.2%
TR20& K 81 80 80 100.0%
THK215E 82 82 82 100.0%
TR22& K 73 73 73 100.0%

(3) fREEHT (EFBEREFH)

& B H B & R 2 B & B & b3
TR18 &K 92 92 92 100.0%
THR19 EE 85 85 80 94.1%
TR20& K 85 84 84 100.0%
THK215E 89 88 83 94.3%
TR22& K 83 83 80 96.4%

(4) BhERH (EFBEREFH)

& B H B & B 2 B & B & -3
T R18&FE 7 7 7 100.0%
THR19 EE 10 10 10 100.0%
TR20& K 10 10 10 100.0%
THK215E 10 10 5 50.0%
TR22& K 10 10 9 90.0%

(5) BRBN R (EFHREYH)

& B H B & B 2 B & B & -3
TR18 &K 35 35 33 94.3%
THR19 &EE 39 39 36 92.3%
TR20& K 40 40 37 92.5%
THK215E 43 42 40 95.2%
TR22& K 38 38 31 81.6%

(6) FRER R E B A (EF SR ETH)

& B H B & B 2 B & B & -3
TR18 &K 38 38 37 97.4%
THR19 EE 40 40 33 82.5%
ERRK20HFE 45 45 39 86.7%
THK215E 38 38 37 97.4%
TR22& K 45 45 40 88.9%




(7) ¥ EEER (s ER)

-3 ::4 H E & # 2 B & & & B F B & ¥ =
T K18 & E 56 56 54 96.4%
ER19 & E 52 51 46 90.2%
TR 20%E 54 54 43 79.6%
ER21&5 % 59 55 53 96.4%
T H22 5 E 60 59 50 84.7%
(8) FEHIED (E2H)
-3 ::4 H E & # 2 B & & & B F B & ¥ =
T 18 & E 84 84 74 88.1%
ER19 & E 84 84 70 83.3%
T H20%E 81 80 67 83.8%
ETR21&5E 1 1 0.0%
T H22 5 E 1 1 0.0%
E(M~@DHFIFILUREEDEELICH ITAHEER. FRER. SBEH. AKX
(9) RIEHER
@ IBRERER
EERXREABE |  AXREER | o 2
] = 179 20 3 3
sRisgg| 0 WXT
& 3] 35,713 3,820 542 549
] = 147 13 0 0
FRi1ogm| O WX
& 3] 27,975 2,219 250 248
] = 0 0
FReogm | D WX
& 3] 21,972 1,605 141 144
] = 0 0
TR 1|0 WXT
& 3] 18,597 1,599 101 92
] = 0 0
FRocag| D WXT
& 3] 16,088 742 52 59
ETHEEHRIE, FoRABREEEHCTESAEREZRBRINTLSEER
E2:FEIRERE, BER, XX, ORKXOIEBICEHEINOBRABRSEENRERERELLD,
@ HELERER
AERXAEROD
F i:4 =4 Vo H R & # Z R FE ¥ MR EL I BREKESR
RiEEREEHR
@ W X 12 12 8 4
FTHR18%&E -
2 3] 2,125 2,091 1,684 1,009
@ W X 32 23 19 10
TRR19EE =
2 = 5,401 4,607 3,479 1,851
@ W X 59 35 26 11
TH20% -
2 3] 7,842 6,261 4,654 2,065
@ W X 75 52 31 13
TR21EE =
2 = 9,734 7,392 5,055 2,043
@ W X 89 53 29 8
TH22 % E -
2 = 11,127 8,163 5,773 2,074




